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OHC + 0, 2 CO, + HO NN MABNN

1.367¢gr 3.002gr  1.640gr

A%apPNT oM M and awm
3.002gr

44gr/ mole

n(CO,) = =0.068mole
1.640gr

=0.091mole
18gr/mole

n(H:O) .

{N2NDTNA 2RO 2R 07 19 TBMRA MNAY nsa Ypn ,CO; anphnaw pmnsn 22
n(C) = n(CO,) = 0.068 mol
AN N V9W o1 P WMRA na 1P H0 ahphimaw ponn 5
n(H) =2 x n(H,0) = 0.182 mol
SNYANGT 2pWann 20N NOIDNNA M R0 Ypwn DR awn j3nnn 2w 'on nX XixaY nn by

1.367 - (0.068 x 12.011) - (0.182 x 1) = 0.368¢r

0.368gr
16gr/ mole

C:H:0=0.068 :0.182 : 0.023 :n2137n2 o*>mn o
[CsHgO], :n"onxa anoun nX 0°23pm (0.023) ania jupa o nn oona ophnn

n(0) = =0.023mole Rt il

21 n'Rv
-

ot -6 Tt o &
_ 257 x10% gr M3 257 x 107 2 ww juonn "2 1901 DX Awn

=2.544 x 10° mol
1.01gr/mol

1mol - 6.022x 10® atoms
2.544 x 10° mol > X atoms

99 @R Y TR 'on vt M o

y = 6:022x 10*atoms x 2.544 x10* mol
Imol

=1.53x10" atoms
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Pi(s) + 6Cl(g) > 4PCl(l)

m 25.0g 91.5¢g 104¢g
MW | 123.9g/mol | 70.9g/mol | 137.3g/mol
n 0.2mol 1.3mol 0.76mol 0.8mol
2w oM MR N [ UKD AR

N7 % = (0.76/0.8)mol x 100% = 94% (93.8%)
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Al [Ne] 3s%3p'
Cl [Ne] 3s%3p°

P 3s73p*
Si 35°3p°
S 3s13p*
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DE=38-33=05
DG=38-13=25
EG=33-13=20
DF=38-28=10
(1) DG=>EG>DF>DE (uimp) S UDINT 70



